FIBOBRE 2-11 Circuit for demonsirating
Keretthoff's corrent i

G":] f‘.‘. {!’-5 1_{.‘(_:) FITORE 2-127
i lt T — :i :5|

|_ — ——

3

\1

FIlRU BT 2-=123 Ot for detansicat
b eSO vedinee fow
!

5/

Luup 3 —~—

O i }R,

ol 2 i

Vo va { Loop v Z R,

ATk
1

FI1EERE 2 - Y1 Circuir
wsed o demostsiegte  comBined



I'_".J_"n MI N 1 Fis 2

T P W———
Restof| & =% 417
thee W i)
cireuil | e
®
La)
(A)
__:__ ==
st of L
the v} \:_ Reg=H/)+ i
cireuil '
———— g 0
STY
W)
(1

FIEURE 2 =25 A series re
Sexfieaee edecints ok Crivinal cirend
(i Fijftbvalent clecan

ir\] !
S B (N
Restof |0 i |_
e o | =G I-ﬁ: rs
cireml |
B
{a]
@) i
. I Restfy L
the | v = Gpg =6+ Gy
circoit | _
.
(&)
(b

FIEVRE 2-28 A parallel
reSistanee cirpwins fa) Original cir-
cielty (b Equeivilent civcuit,

£ i)
: "'"J""-'J'-\.' 8|
I W !
; | : |
| i .:I vz 1 Loop T v :f' i
LER
L
ity
Fhsud Po= TR A vologe
! Vo
(PSR T S A
—
| \:le

FIBURE 2-4841 A current
divider circielt



SEries

Parallel

=

=2
[

|
I
oA — "v"'n'.‘a:\‘

4 Jisitisa

o @

i A b+
r Rest of
v the
_ | circwit

=il

Ciremit A

FoEA

1 T i
oy i Rest of
5 I/Fil J Ry v the
\T" circiit

Cireuit B
FEHEDRE 2= 88 Procicw

sorce ppodels har aee et
wher B 12240 o savefied

FIGOTNE F <34 Swnwrary
o tn-teruinal eguivalent clecwics,

[TET 0 A I O



i
[ - "
— e —_— *
— T \ i L
[ * | gestof | 5 r’+";] .
() = : S — o circutl
5 ] RZE B
— r circuit o
L1 = ——— .
¢ sofibce el g FEsEstoe e

2 f oftag
g - § 2 FEquivifon corcuit of @ bOU g

FIEUAE
||-,|,:|.'.|_'|'|rllt'll.
K i —— ‘ )
WA= i  EE— ]
]_\ Restalf "5/--- Resl af
s q_/l " the — { l ) 1 the
careut e o Nreil
. [_ — cireut

[ v enrrend Ve :.'r.l.." ER AR W T |

* I EUNE ? - 3 3 .!l'rfrrfi';r.frn.’ circqind o)

Kerie
e 4
i ) ¥
o il ]
1 % =
i i {,_;JI_.) ) = iy _f_:’; L
‘ ' i¢s and il et
o )
F1TE80E 2-32 Foer gl ;
PRt devider ciresis,
L ¥ i Il hl"“ .

FIBURE 2-4E8 Alddercira °_| : [—T—| Sl ]—9—{ !

B




FIGURE

[T TRLE

2-11

EXAMPLE 2-22

Find v, in the circuit shown in Figure 2-4%a).
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Then, applying Ohm's law to obtain v,,

v,=10%i =25V





